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Examine the drawing below and answer the following questions. [units: ]

1. What type of geometric tolerance is involved here (form, orientation, or location)? [1 Point]											ANSWER:   (
form
)
2. Describe below each element of the feature control frame. 			[3 Points]
· : geometric – form – straighness tolerance
· [image: ]: allowable geometric tolerance is a  cylindrical error zone [image: ] measured around the central axis (or axis error) and is taken at the  of the shaft

3. What is the basic size? [1 Point]							ANSWER: 	
4. What is the MMC and LMC? 		[1 Point]
MMC: 	
LMC: 	
; 
5. What is the size of the virtual hole? [2 Points]		ANSWER: 


6. [bookmark: _GoBack]What is the geometric tolerance for cross sections in the shaft having the following sizes? [2 Points]
a. 1.256											ANSWER: 
b. 1.238											ANSWER:  (
part
 r
ejected
)
a) 
· Check size:  (⇒ ok)
· 
b) 
· Check size:  (⇒ part is rejected)
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Figure 5-18. The permitted axis error applied to a cylinder has an effect on the apparent diameter
of the cylinder. The combined effect of the MMC size and the permitted axis error is known as the
virtual condition.
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